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2. ‡ÃÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ ²ÖÆãü×¾ÖÛú»¯ÖßµÖ ¯ÖÏ¿®Ö Æïü …
3. ¯Ö¸üßõÖÖ ¯ÖÏÖ¸ü´³Ö ÆüÖê®Öê ¯Ö¸ü, ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ †Ö¯ÖÛúÖê ¤êü ¤üß •ÖÖµÖêÝÖß … ¯ÖÆü»Öê

¯ÖÖÑ“Ö ×´Ö®Ö™ü †Ö¯ÖÛúÖê ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ ÜÖÖê»Ö®Öê ŸÖ£ÖÖ ˆÃÖÛúß ×®Ö´®Ö×»Ö×ÜÖŸÖ
•ÖÖÑ“Ö Ûêú ×»Ö‹ ×¤üµÖê •ÖÖµÖëÝÖê, ×•ÖÃÖÛúß •ÖÖÑ“Ö †Ö¯ÖÛúÖê †¾Ö¿µÖ Ûú¸ü®Öß Æîü :
(i) ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ ÜÖÖê»Ö®Öê Ûêú ×»Ö‹ ˆÃÖÛêú Ûú¾Ö¸ü ¯Öê•Ö ¯Ö¸ü »ÖÝÖß ÛúÖÝÖ•Ö

Ûúß ÃÖß»Ö ÛúÖê ±úÖ›Ìü »Öë … ÜÖã»Öß Æãü‡Ô µÖÖ ×²Ö®ÖÖ Ã™üßÛú¸ü-ÃÖß»Ö Ûúß
¯Öã×ÃŸÖÛúÖ Ã¾ÖßÛúÖ¸ü ®Ö Ûú¸ëü …
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‡ÃÖÛêú ×»Ö‹ †Ö¯ÖÛúÖê ¯ÖÖÑ“Ö ×´Ö®Ö™ü ×¤üµÖê •ÖÖµÖëÝÖê … ˆÃÖÛêú ²ÖÖ¤ü ®Ö
ŸÖÖê †Ö¯ÖÛúß ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ ¾ÖÖ¯ÖÃÖ »Öß •ÖÖµÖêÝÖß †Öî̧ ü ®Ö Æüß †Ö¯ÖÛúÖê
†×ŸÖ× ü̧ŒŸÖ ÃÖ´ÖµÖ ×¤üµÖÖ •ÖÖµÖêÝÖÖ …

(iii) ‡ÃÖ •ÖÖÑ“Ö Ûêú ²ÖÖ¤ü OMR ¯Ö¡ÖÛú Ûúß ÛÎú´Ö ÃÖÓÜµÖÖ ‡ÃÖ ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ
¯Ö¸ü †Ó×ÛúŸÖ Ûú¸ü ¤ëü …
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1. Match List – I with List – II. 
List – I List – II 

(a) Linguistic 
Intelligence 

1. Use of body parts 
to solve problems 
including control 
over motor actions 

(b) Musical 
Intelligence 

2. Engage in abstract 
thought, that is, use 
of appropriate 
relationships in the 
absence of action 
or objects. 

(c) Mathematical 
Intelligence 

3. Capacity related to 
phonology, syntax, 
semantics and 
pragmatics 

(d) Kinesthetic 
Intelligence 

4. Ability to create, 
communicate and 
understand 
meanings from 
pitch, rhythm and 
timber qualities of 
sound 

 Codes : 
  (a) (b) (c) (d) 
 (A) 4 1 2 3 
 (B) 3 4 2 1 
 (C) 4 3 1 2 
 (D) 1 2 3 4 
 

2. Choose the correct answer :  
 Assertion (A) : Colour sensation is 

the effect of certain 
wavelengths on the nervous 
system. 

 Reason (R) : Colour is a product 
of the visual system, not an 
inherent property of the visible 
spectrum. 

 (A) (A) is correct but (R) is wrong. 
 (B) (A) is not correct but (R) is 

correct.  
 (C) Both (A) and (R) are correct 

but (R) is not the correct 
explanation of (A).  

 (D) Both (A) and (R) are correct 
and (R) is the correct 
explanation of (A). 

 
 
 

 
3. Choose the correct answer. 

 Assertion (A) : Psychological tests 

when properly used serve an 

important function in 

preventing unfair 

discrimination of the 

minorities. 

 Reason (R) : Psychological tests 

can indeed be misused with 

minorities or anyone else. 

 (A) (A) is correct but (R) is wrong. 

 (B) Both (A) and (R) are correct 

but (R) is not the correct 

explanation of (A).  

 (C) Both (A) and (R) are wrong.  

 (D) (A) is wrong but (R) is right. 

 

4. Choose the correct answer. 

 Assertion (A) : Equal number of 

‘yes’ and ‘no’ keyed answers 

are included in tests to nullify 

acquisence or the tendency to 

answer ‘yes’ or ‘true’.  

 Reason (R) : Social desirability 

can be reduced in forced 

choice items but cannot be 

eliminated completely.  

 (A) Both (A) and (R) are wrong. 

 (B) (A) is correct but  (R) is 

wrong.  

 (C) (A) is wrong but (R) is correct. 

 (D) Both (A) and (R) are correct 

but (R) is not the correct 

explanation of (A). 

PSYCHOLOGY 

Paper – II 

Note : This paper contains fifty (50) objective type questions, each question carrying two 

(2) marks. Attempt all the questions. 
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1. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  
ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) ³ÖÖÂÖÖ‡Ô ²Öã×¨ü  1. �Ö×ŸÖ�ú ×�ÎúµÖÖ ¯Ö¸ü ×−ÖµÖÓ¡Ö!Ö 
ÃÖ×ÆüŸÖ ÃÖ´ÖÃµÖÖ �êú ÃÖ´ÖÖ¬ÖÖ−Ö 
´Öë ¿ÖÖ ü̧ß×¸ü�ú †Ó�ÖÖë �úÖ ¯ÖÏµÖÖê�Ö  

(b) ÃÖÓ�ÖßŸÖÖŸ´Ö�ú 
²Öã×¨ü 

2. †´ÖæŸÖÔ ×¾Ö“ÖÖ ü̧Öë ´Öë »Ö�Ö−ÖÖ 
†£ÖÖÔŸÖË ×�ÎúµÖÖ µÖÖ ¾ÖÃŸÖã �úß 
†−Öã¯ÖÛÃ£Ö×ŸÖ ´Öë ÃÖ´Öã×“ÖŸÖ 
ÃÖÓ²ÖÓ¬Ö Ã£ÖÖ×¯ÖŸÖ �ú ü̧−ÖÖ …   

(c) �Ö×!ÖŸÖßµÖ 
²Öã×¨ü  

3. Ã¾Ö¸ü-×¾Ö–ÖÖ−Ö, ¾ÖÖŒµÖ-
ÃÖÓ¸ü“Ö−ÖÖ, †£ÖÔ-ÃÖÓ¸ü“Ö−ÖÖ †Öî̧ ü 
¾µÖÖ¾ÖÆüÖ× ü̧�úŸÖÖ ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ  

(d) �Ö×ŸÖ²ÖÖê¬Ö�ú 
²Öã×¨ü  

4. −ÖÖ¤ü �êú Ã¾Ö ü̧, ŸÖÖ»Ö †Öî̧ ü 
¬¾Ö×−Öºþ¯Ö �úß �Öã!Ö¾Ö¢ÖÖ ÃÖê 
†£ÖÔ �úÖ ×−Ö´ÖÖÔ!Ö, ÃÖÓ¯ÖÏêÂÖ!Ö 
†Öî ü̧ ÃÖ´Ö—Ö �úß 4Ö´ÖŸÖÖ …  

 �æú™ü : 
  (a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 3 4 2 1 

 (C) 4 3 1 2 

 (D) 1 2 3 4 

 

2. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ :  

 †×³Ö�ú£Ö−Ö  (A) : ̧ Óü�Ö �úß †−Öã³Öæ×ŸÖ, ŸÖÓ×¡Ö�úÖ ŸÖÓ¡Ö 
¯Ö¸ü �ãú”û ŸÖ¸Óü�Ö-¤îü¬µÖÔ (¾Öê¾Ö»Öë£Ö) �úÖ ¯ÖÏ³ÖÖ¾Ö 
Æîü … 

 �úÖ¸�Ö (R) : ̧ Óü�Ö, ¥üÛÂ™ü ŸÖÓ¡Ö ÃÖê ×¤ü=ÖÖ‡Ô ¤êüŸÖê 
Æïü −Ö ×�ú ¥üÛÂ™ü ¾Ö!ÖÖÔ�Îú´Ö �úÖ †ÓŸÖÙ−Ö×ÆüŸÖ 
�Öã!Ö Æîü … 

 (A) (A) ÃÖÆüß Æîü »Öê×�ú−Ö (R) �Ö»ÖŸÖ Æîü …  
 (B) (A) ÃÖÆüß −ÖÆüà Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   

 (D) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …  

 

 

 

 
3. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ :  
 †×³Ö�ú£Ö−Ö  (A) : µÖ×¤ü ´Ö−ÖÖê¾Öî–ÖÖ×−Ö�ú ¯Ö¸üß4Ö!Ö 

ÃÖÆüß ŸÖ ü̧ß�êú ÃÖê ×�úµÖÖ •ÖÖŸÖÖ Æîü ŸÖÖê ‡ÃÖÃÖê 

†»¯ÖÃÖÓ=µÖ�úÖë �êú ÃÖÖ£Ö ÆüÖê−Öê ¾ÖÖ»Öê †−Öã×“ÖŸÖ 

³Öê¤ü-³ÖÖ¾Ö �úÖ ×−Ö¾ÖÖ¸!Ö ×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ     

Æîü …  

 �úÖ¸�Ö (R) : ́ Ö−ÖÖê¾Öî–ÖÖ×−Ö�ú ¯Ö¸üß4Ö !Ö �úÖ 

¤ãü¹ý¯ÖµÖÖê�Ö ŸÖÖê †»¯ÖÃÖÓ=µÖ�úÖë µÖÖ ×�úÃÖß 

†−µÖ �êú ÃÖÓ²ÖÓ¬Ö ´Öë ³Öß ×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ    

Æîü …  

 (A) (A) ÃÖÆüß Æîü »Öê×�ú−Ö (R) �Ö»ÖŸÖ Æîü …  

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë �Ö»ÖŸÖ Æïü …  

 (D) (A) �Ö»ÖŸÖ Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  

 

4. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ :  

 †×³Ö�ú£Ö−Ö  (A) : ̂ ¢Ö¸üÖë �úÖê ‘ÆüÖÑ’ †Öî̧ ü ‘−ÖÆüà’ �êú 

²Ö ü̧Ö²Ö ü̧ ÃÖÓ=µÖÖ ´Öë ¤êü−ÖÖ ¯Ö ü̧ß4Ö !Ö ´Öë †•ÖÔ−Ö µÖÖ 

‘ÆüÖÑ’ µÖÖ ‘ÃÖÆüß’ ´Öë ˆ¢Ö¸ü ¤êü−Öê �úß ¯ÖÏ¾Öé×¢Ö �úÖê 

ÃÖ´ÖÖ¯ŸÖ �ú¸ü−Öê �êú ×»Ö‹ ×�úµÖÖ •ÖÖŸÖÖ Æîü …   

 �úÖ¸�Ö (R) : †×−Ö¾ÖÖµÖÔ ¾Ö ü̧!Ö ´Ö¤üÖë ´Öë 

ÃÖÖ´ÖÖ×•Ö�ú ¾ÖÖÓ”û−ÖßµÖŸÖÖ �úÖê �ú´Ö ×�úµÖÖ •ÖÖ 

ÃÖ�úŸÖÖ Æîü »Öê×�ú−Ö ¯Öæ¸üß ŸÖ¸üÆü ÃÖ´ÖÖ¯ŸÖ −ÖÆüà 

×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ Æîü …  

 (A) (A) †Öî¸ü (R) ¤üÖê−ÖÖë �Ö»ÖŸÖ Æïü …  

 (B) (A) ÃÖÆüß Æîü »Öê×�ú−Ö (R) �Ö»ÖŸÖ Æîü …  

 (C) (A) �Ö»ÖŸÖ Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  

 (D) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   

´Ö−ÖÖê×¾Ö–ÖÖ−Ö 
¯ÖÏ¿−Ö¯Ö¡Ö – II 

 

−ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿−Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆãü-×¾Ö�ú»¯ÖßµÖ ¯ÖÏ¿−Ö Æïü … ¯ÖÏŸµÖê�ú ¯ÖÏ¿−Ö �êú ¤üÖê (2) †Ó�ú Æïü … ÃÖ³Öß ¯ÖÏ¿−ÖÖë �êú ˆ¢Ö¸ü 
¤üß×•Ö‹ …  
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5. The apparent motion of stationary 

point of light in darkness is called 

 (A) Biological motion 

 (B) Binocular rivalry 

 (C) Auto stereogram 

 (D) Autokinetic movement 
 

6. Aniseikonia means  

 (A) A form of Agnosia in which an 

individual cannot recognise 

tunes or melodies. 

 (B) A tendency to perceive a form 

or surface as having distinct 

contours. 

 (C) An optical anomaly in which 

the image in one eye is larger 

than in the other. 

 (D) Lack of sense of smell. 
 

7. Among the following which one is 

not a theory of intelligence ?  

 (A) Coci’s biological theory 

 (B) Anderson’s theory 

 (C) James-Lange theory 

 (D) Gardner’s theory 
 

8. The tendency of the eyes to turn 

towards each other in a co-ordinated 

action to fixate on targets located 

nearby is called 

 (A) Equipotentiality 

 (B) Consonance 

 (C) Dichromatism 

 (D) Convergence 
 

9. The number of cycles or frequency 

of sound wave per second 

determines 

 (A) Pitch (B) Loudness 

 (C) Timbre (D) Amplitude 
 

10. The minimum amount of physical 

intensity of a stimulus required for 

its detection is called  

 (A) Potentiation 

 (B) Absolute Limen 

 (C) Differential Threshold 

 (D) Terminal Threshold 

11. Out of the following which one is not 

a method of measuring reliability ? 

 (A) Test-Retest 

 (B) Alternate-form 

 (C) Predictive 

 (D) Split-Half 

 

12. Among the following which one is 

not a projective test ? 

 (A) Minnesota Multiphasic 

Personality Inventory 

  (B) Somatic Ink Blot Systems  

 (C) Thematic Apperception Test 

 (D) Rorschach Ink Blot Test 

 

13. Inability to break out of a pattern 

which really leads to the solution of 

a problem is called  

 (A) Functional Variability 

 (B) Functional Fixedness 

 (C) Functional Storming 

 (D) Functional Orientation 

 

14. The correct sequence of different 

stages of psycho-sexual development 

is 

 (A) Anal, Oral, Phallic, Genital, 

Latency 

 (B) Anal, Phallic, Oral, Genital, 

Latency 

 (C) Oral, Anal, Latency, Phallic, 

Genital 

 (D) Oral, Anal, Phallic, Latency, 

Genital 

 

15. According to Carl Jung, collective 

unconscious is a common reservoir 

of images derived from 

 (A) our early repressed desires. 

 (B) our unfulfilled desires. 

 (C) our ancestors’ universal 

experiences. 

 (D) our early sexual tensions. 
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5. †Ó¬Öȩ̂ êü ´Öë ¯ÖÏ�úÖ¿Ö �êú Ã£ÖÖµÖß Ø²Ö¤ãü �úß †Ö³ÖÖÃÖß �Ö×ŸÖ 
�úÖê _______ �úÆüŸÖê Æïü … 

 (A) •Öî×¾Ö�ú �Ö×ŸÖ  
 (B) ×«ü−Öê¡Öß ¯ÖÏ×ŸÖ«Óü«üŸÖÖ  
 (C) Ã¾Ö-Ã™üß×¸üµÖÖê�ÖÏÖ´Ö  
 (D) Ã¾ÖŸÖ:�Ö×ŸÖ�ú ÃÖÓ“Ö»Ö−Ö  
 

6. ‹−Öß×ÃÖ�úÖê×−ÖµÖÖ ÃÖê ŸÖÖŸ¯ÖµÖÔ Æîü : 
 (A) †²ÖÖê×¬ÖŸÖ �úÖ ‹�ú ºþ¯Ö, ×•ÖÃÖ´Öë �úÖê‡Ô 

¾µÖÛŒŸÖ ü̧Ö�Ö µÖÖ ÃÖãÃ¾Ö¸ü �úÖê −ÖÆüà ¯ÖÆü“ÖÖ−Ö 
¯ÖÖŸÖÖ Æîü …  

 (B) ×�úÃÖß ºþ¯Ö µÖÖ ¬Ö¸üÖŸÖ»Ö �úß ‹êÃÖß ¯Öæ¾ÖÔ¬ÖÖ¸ü!ÖÖ 
²Ö−ÖÖ−Öê �úß ¯ÖÏ¾Öé×¢Ö ´ÖÖ−ÖÖê ×�ú ¾ÖÆü ×¾Ö×¿ÖÂ™ü 
ºþ¯Ö ȩ̂ü=ÖÖ ÆüÖê …  

 (C) ‹�ú ¥üÛÂ™ü ×¾ÖÃÖÓ�Ö×ŸÖ Æîü, ×•ÖÃÖ´Öë ‹�ú †ÖÑ=Ö 
ÃÖê ×¤ü=ÖÖ‡Ô ¤êü−Öê ¾ÖÖ»ÖÖ Ø²Ö²Ö ¤æüÃÖ¸üß †ÖÑ=Ö ÃÖê 
×¤ü=ÖÖ‡Ô ¤êü−Öê ¾ÖÖ»Öê Ø²Ö²Ö ÃÖê ²Ö›ÌüÖ ÆüÖêŸÖÖ Æîü …  

 (D) ‘ÖÐÖ !Ö¿ÖÛŒŸÖ �úß �ú´Öß …  
 

7. ×−Ö´−Ö×»Ö×=ÖŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ×ÃÖ¨üÖÓŸÖ ²Öã×¨ü �úÖ 
×ÃÖ¨üÖÓŸÖ −ÖÆüà Æîü ?  

 (A) �úÖêÃÖß �úÖ •Öî×¾Ö�úß ×ÃÖ¨üÖÓŸÖ  
 (B) ‹Ó›ü̧ üÃÖ−Ö �úÖ ×ÃÖ¨üÖÓŸÖ  
 (C) •Öê´ÃÖ-»Öë�Öê �úÖ ×ÃÖ¨üÖÓŸÖ  
 (D) �ÖÖ›Ôü−Ö ü̧ �úÖ ×ÃÖ¨üÖÓŸÖ  
 

8. ÃÖ´Öß¯Ö ÛÃ£ÖŸÖ »Ö4µÖÖë ¯Ö ü̧ �êúÛ−¦üŸÖ �ú¸ü−Öê �êú ×»Ö‹ 
ÃÖ´Ö−¾ÖµÖ �úß ×�ÎúµÖÖ ´Öë †ÖÑ=ÖÖë �úß ‹�ú ¤æüÃÖ¸êü �úß 
†Öê ü̧ �ú¸ü−Öê �úß ¯ÖÏ¾Öé×¢Ö �úÆü»ÖÖŸÖß Æîü  : 

 (A) ÃÖ´ÖÃÖÓ³ÖÖ¾µÖŸÖÖ  (B) †−Öãºþ¯ÖŸÖÖ  
 (C) ×«ü¾Ö!ÖÔŸÖÖ  (D) †×³ÖÃÖ¸ü!Ö 
 

9. ¯ÖÏ×ŸÖ ÃÖê�ëú›ü ¬¾Ö×−Ö ŸÖ¸Óü�Ö �êú “Ö�ÎúÖë µÖÖ †Ö¾Öé×¢ÖµÖÖë �úß 
ÃÖÓ=µÖÖ ×−Ö´−Ö×»Ö×=ÖŸÖ �úÖê ×−Ö¬ÖÖÔ×¸üŸÖ �ú¸üŸÖß Æîü  

 (A) ×¯Ö“Ö  (B) ¬¾Ö×−Ö ˆ““ÖŸÖÖ  
 (C) ¬¾Ö×−Ö �Öã!Ö (D) ×¾ÖÃŸÖß!ÖÔŸÖÖ  
 

10. ¯ÖÏê¸ü�ú �úß ¿ÖÖ ü̧ß×¸ü�ú ÃÖ‘Ö−ÖŸÖÖ �úß −µÖæ−ÖŸÖ´Ö ´ÖÖ¡ÖÖ, 
•ÖÖê ‡ÃÖ�úÖ ¯ÖŸÖÖ »Ö�ÖÖ−Öê �êú ×»Ö‹ †¯Öê×4ÖŸÖ Æîü, ˆÃÖê 
�úÆüŸÖê Æïü  

 (A) ¿ÖÛŒŸÖ�ú¸ü!Ö (B) ×−Ö ü̧¯Öê4Ö ÃÖß´ÖÖ 
 (C) ×¾Ö³Öê¤ü−Ö ¤êüÆü»Öß  (D) ÃÖß´ÖÖÓŸÖ ¤êüÆü»Öß  

11. ×−Ö´−Ö×»Ö×=ÖŸÖ ´Öë ÃÖê ×¾Ö¿¾ÖÃÖ−ÖßµÖŸÖÖ ´ÖÖ¯Ö−Ö �úß ×¾Ö×¬Ö 
�úÖî−Ö ÃÖß −ÖÆüà Æîü ? 

 (A) ¯Ö¸üß4Ö !Ö - ¯Öã−Ö:¯Ö¸üß4Ö!Ö 
 (B) ¾Öî�úÛ»¯Ö�ú ºþ¯Ö 
 (C) ³Ö×¾ÖÂµÖ ÃÖæ“Ö�ú  
 (D) †¬ÖÔ-×¾Ö³ÖÖ•Ö−Ö  
 

12. ×−Ö´−Ö×»Ö×=ÖŸÖ ´Öë ÃÖê ¯ÖÏ4Öê¯Ö!Ö ¯Ö¸üß4Ö!Ö �úÖî−Ö ÃÖÖ −ÖÆüà 
Æîü ? 

 (A) ´ÖÖ‡−ÖêÃÖÖê™üÖ ²ÖÆãü“Ö¸ü !ÖßµÖ ¾µÖÛŒŸÖŸ¾Ö ÃÖæ“Öß  
 (B) ÃÖÖê´Öê×™ü�ú ÃµÖÖÆüß ¬Ö²²ÖÖ ¯ÖÏ!ÖÖ»Öß  
 (C) ×£Ö´Öê×™ü�ú †ÖŸ´Ö²ÖÖê¬Ö ¯Ö¸üß4Ö!Ö 
 (D) ¸üÖê¿ÖÖÔ ÃµÖÖÆüß-¬Ö²²ÖÖ ¯Ö¸üß4Ö!Ö 
 

13. ˆÃÖ ¯ÖÏ×ŸÖ´ÖÖ−Ö �úÖê ŸÖÖê›Ìü−Öê �úß †ÃÖ´Ö£ÖÔŸÖÖ, ×•ÖÃÖÃÖê 
¾ÖÖÃŸÖ¾Ö ´Öë ÃÖ´ÖÃµÖÖ �úÖ ÃÖ´ÖÖ¬Ö−Ö ÆüÖêŸÖÖ Æîü ˆÃÖê �úÆüŸÖê 
Æïü : 

 (A) �úÖµÖÖÔŸ´Ö�ú ¯ÖÏÃÖ¸ü!Ö 
 (B) �úÖµÖÖÔŸ´Ö�ú Ã£ÖÖ×µÖŸ¾Ö  
 (C) �úÖµÖÖÔŸ´Ö�ú ×¾ÖÃ±úÖê™ü  
 (D) �úÖµÖÖÔŸ´Ö�ú †×³Ö´Öã=Öß�ú ü̧!Ö 
 

14. ´Ö−ÖÖê-µÖÖî−Ö ×¾Ö�úÖÃÖ �úß ×¾Ö×³Ö−−Ö †¾ÖÃ£ÖÖ†Öë �úÖ 
ÃÖÆüß �Îú´Ö Æîü : 

 (A) �Öã¤üÖ, ´ÖÖî×=Ö�ú, »Öï×�Ö�ú, •Ö−Ö−ÖÖÓ�Öß, 
†¾µÖŒŸÖŸÖÖ 

 (B) �Öã¤üÖ, »Öï×�Ö�ú, ´ÖÖî×=Ö�ú, •Ö−Ö−ÖÖÓ�Öß, 
†¾µÖŒŸÖŸÖÖ 

 (C) ´ÖÖî×=Ö�ú, �Öã¤üÖ, †¾µÖŒŸÖŸÖÖ, »Öï×�Ö�ú, 
•Ö−Ö−ÖÖÓ�Öß 

 (D) ´ÖÖî×=Ö�ú, �Öã¤üÖ, »Öï×�Ö�ú, †¾µÖŒŸÖŸÖÖ, 
•Ö−Ö−ÖÖÓ�Öß  

 

15. �úÖ»ÖÔ •ÖãÓ�Ö �êú †−ÖãÃÖÖ¸ü ‘ÃÖÖ´Öæ×Æü�ú †“ÖêŸÖ−Ö’ ‹�ú 

‹êÃÖÖ �úÖ»¯Ö×−Ö�ú ³ÖÓ›üÖ ü̧ Æîü, •ÖÖê ×−Ö´−Ö×»Ö×=ÖŸÖ ÃÖê 

¯ÖÏÖ¯ŸÖ ÆüÖêŸÖÖ Æîü  

 (A) Æü´ÖÖ ü̧ß ¯ÖÆü»Öê ¤ü²ÖÖ‡Ô �Ö‡Ô ‡“”ûÖ  

 (B) Æü´ÖÖ ü̧ß †¯Öæ!ÖÔ ‡“”ûÖ  

 (C) Æü´ÖÖ ȩ̂ü ¯Öæ¾ÖÔ•ÖÖë �úÖ ¾ÖîÛ¿¾Ö�ú †−Öã³Ö¾Ö  

 (D) Æü´ÖÖ ü̧Ö ¯ÖÏÖ Ó̧ü×³Ö�ú µÖÖî−Ö ŸÖ−ÖÖ¾Ö  
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16. All our thoughts and feelings about 
ourselves is an answer to the 
question “What can I do” are 
referred to as 

 (A) Self-Concept 

 (B) Self-Esteem 

 (C) Self-Worth 

 (D) Self-Efficacy 
 

17. In Rorschach Ink Blot Test, 
responses reflect 

 (A) our inner conflicts 

 (B) our inner experience 

 (C) our inner feelings 

 (D) our inner conflicts and feelings 
 

18. The lasting behaviours, thoughts and 
emotions that specify how do we 
react and adapt to other people and 
situations make up our 

 (A) Attitudes 

 (B) Beliefs 

 (C) Personality 

 (D) Intelligence 
 

19. Match List – I with List – II. 

List – I List – II 

(a) Person is driven 
by unconscious 
forces, primarily 
sexual urges 

1. Trait-
Approach 

(b) Person has a 
tendency to fulfil 
his potential 

2. Social-
Learning 
Approach  

(c) Person’s ideas, 
thoughts and 
belief lead to 
behaviour 

3. Humanistic 
Approach 

(d) Person’s trait 
develops in a 
tendency to 
behave in a 
particular way 

4. Psychoanalytic 
Approach  

 Codes : 

  (a) (b) (c) (d) 

 (A) 1 2 3 4  

 (B) 2 3 4 1 

 (C) 3 2 4 1 

 (D) 4 3 2 1 

20. A child’s beginning sentences differ 

from adult’s sentences. Such 

sentences of children are called 

 (A) Phonology 
 (B) Language 
 (C) Communication 
 (D) Telegraphic 
 

21. Language is a special form of 
 (A) Thinking 
 (B) Communication 
 (C) Problem solving 
 (D) Heuristics 
 

22. Choose the correct answer :  
 Assertion (A) : Non-Parametric 

tests are called distribution free 
tests. 

 Reason (R) : Assumptions about 
the nature of distribution of 
population are made in 
Parametric tests. 

 (A) Neither (A) is correct nor (R) 
is correct. 

 (B) Both (A) and (R) are correct 
and (R) is the correct 
explanation of (A).  

 (C) Both (A) and (R) are correct 
but (R) is not the correct 
explanation of (A).  

 (D) (A) is false but (R) is correct.  
 

23. Choose the correct answer :  
 Assertion (A) : A test having items 

of high discriminative value 
shall have high validity Index. 

 Reason (R) : Item discrimination 
means that the item evokes 
differential responses from two 
individuals known to be 
different on the variable being 
measured. 

 (A) Both (A) and (R) are correct 
and (R) is the correct 
explanation of (A). 

 (B) Both (A) and (R) are correct 
but (R) is not the correct 
explanation of (A).  

 (C) (A) is correct but (R) is false. 
 (D) (A) is false but (R) is correct. 
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16. †¯Ö−Öê ²ÖÖ ȩ̂ü ´Öë Æü´ÖÖ ü̧ß ÃÖ³Öß ÃÖÖê“Ö †Öî ü̧ ³ÖÖ¾Ö−ÖÖ “´Öï 
ŒµÖÖ �ú¸ü ÃÖ�úŸÖÖ ÆæÑü” �êú ¯ÖÏ¿−Ö �úÖ ‹�ú ˆ¢Ö¸ü Æîü, 
×•ÖÃÖê ×−Ö´−Ö×»Ö×=ÖŸÖ �êú ºþ¯Ö ´Öë •ÖÖ−ÖÖ •ÖÖŸÖÖ Æîü  

 (A) †ÖŸ´Ö-ÃÖÓ�ú»¯Ö−ÖÖ  
 (B) †ÖŸ´Ö-ÃÖ´´ÖÖ−Ö  
 (C) †ÖŸ´Ö-´Öæ»µÖ  
 (D) †ÖŸ´Ö-¯ÖÏ³ÖÖ¾Ö�úÖ×¸üŸÖÖ (4Ö´ÖŸÖÖ)  
 

17. ¸üÖê¿ÖÖÔ ÃµÖÖÆüß ¬Ö²²ÖÖ ¯Ö¸üß4Ö!Ö �êú ¯ÖÏŸµÖã¢Ö¸ü ÃÖê 
×−Ö´−Ö×»Ö×=ÖŸÖ ¯ÖÏ×ŸÖ¾ÖéŸÖ ÆüÖêŸÖÖ Æîü  

 (A) Æü´ÖÖ ü̧Ö †ÖÓŸÖ× ü̧�ú «Óü«ü  
 (B) Æü´ÖÖ ü̧Ö †ÖÓŸÖ× ü̧�ú †−Öã³Ö¾Ö  
 (C) Æü´ÖÖ ü̧ß †ÖÓŸÖ× ü̧�ú ³ÖÖ¾Ö−ÖÖ  
 (D) Æü´ÖÖ ü̧Ö †ÖÓŸÖ× ü̧�ú «Óü«ü †Öî¸ü ³ÖÖ¾Ö−ÖÖ  
 

18. ‹êÃÖê ¤üß‘ÖÔ�úÖ×»Ö�ú ¾µÖ¾ÖÆüÖ¸ü, ×¾Ö“ÖÖ¸ü †Öî̧ ü ÃÖÓ¾Öê�Ö •ÖÖê 
µÖÆü ²ÖŸÖÖŸÖê Æïü ×�ú Æü´Ö ¤æüÃÖ ȩ̂ü ¾µÖÛŒŸÖ �êú ÃÖÖ£Ö �îúÃÖê 
¯ÖÏ×ŸÖ×�ÎúµÖÖ �ú ü̧ŸÖê Æïü †Öî̧ ü �îúÃÖê †−Öã�æú»Ö−Ö �ú ü̧ŸÖê Æïüü, 
Æü´ÖÖ ü̧Ö ×−Ö´−Ö×»Ö×=ÖŸÖ �Öã!Ö ²ÖŸÖÖŸÖÖ Æîü  

 (A) †×³Ö¾Öé×¢Ö  (B) ×¾Ö¿¾ÖÖÃÖ / ´ÖŸÖ 
 (C) ¾µÖÛŒŸÖŸ¾Ö  (D) ²Öã×¨ü  
 

19. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  
ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) ¾µÖÛŒŸÖ ×•Ö−Ö †“ÖêŸÖ−Ö 
¿ÖÛŒŸÖµÖÖë «üÖ¸üÖ “ÖÖ×»ÖŸÖ 
ÆüÖêŸÖÖ Æîü, ˆ−Ö´Öë ´Öã=µÖ ºþ¯Ö 
ÃÖê µÖÖî−Ö ¯ÖÏµÖÖê�Ö Æïü …  

1. ÃÖ¤Ëü�Öã !Ö 
ˆ¯ÖÖ�Ö´Ö  

(b) ¾µÖÛŒŸÖ ´Öë †¯Ö−Öß 
†ÓŸÖ:¿ÖÛŒŸÖ �úÖê ¯Öæ ü̧Ö �ú¸ü−Öê 
�úß ¯ÖÏ¾Öé×¢Ö ÆüÖêŸÖß Æîü …  

2. ÃÖÖ´ÖÖ×•Ö�ú 

×¿Ö4Ö !Ö 
ˆ¯ÖÖ�Ö´Ö  

(c) ¾µÖÛŒŸÖ �êú ×¾Ö“ÖÖ¸ü, ÃÖÖê“Ö 
†Öî ü̧ ×¾Ö¿¾ÖÖÃÖ ÃÖê ˆÃÖ�úÖ 
¾µÖ¾ÖÆüÖ ü̧ ²Ö−ÖŸÖÖ Æîü …  

3. ´ÖÖ−Ö¾ÖŸÖÖ¾ÖÖ¤üß 
ˆ¯ÖÖ�Ö´Ö  

(d) ŸÖ ü̧ß�úÖ ×¾Ö¿ÖêÂÖ ´Öë ¾µÖ¾ÖÆüÖ¸ü 
�ú¸ü−Öê �úß ¯ÖÏ¾Öé×¢Ö ´Öë ¾µÖÛŒŸÖ 

�êú ÃÖ¤Ëü�Öã !Ö �úÖ ×¾Ö�úÖÃÖ 
ÆüÖêŸÖÖ Æîü  

4. ´Ö−ÖÖê×¾Ö¿»ÖêÂÖ�ú 
ˆ¯ÖÖ�Ö´Ö  

 �æú™ü : 
  (a) (b) (c) (d) 
 (A) 1 2 3 4 
 (B) 2 3 4 1 
 (C) 3 2 4 1 
 (D) 4 3 2 1 

20. ²Ö““Öê �êú ¿Öãºþ†ÖŸÖß ¾ÖÖŒµÖ ¾ÖµÖÃ�ú �êú ¾ÖÖŒµÖÖë ÃÖê 
×³Ö−−Ö ÆüÖêŸÖê Æïü … ²Ö““ÖÖë �êú ‡−Ö ¾ÖÖŒµÖÖë �úÖê �úÆüŸÖê    
Æïü …  

 (A) Ã¾Ö¸ü×¾Ö–ÖÖ−Ö  (B) ³ÖÖÂÖÖ  
 (C) ÃÖÓ¯ÖÏêÂÖ!Ö (D) ™êü»Öß�ÖÏÖ×±ú�ú  
 

21. ³ÖÖÂÖÖ ×−Ö´−Ö×»Ö×=ÖŸÖ �úÖ ×¾Ö¿ÖêÂÖ ºþ¯Ö Æîü  
 (A) Ø“ÖŸÖ−Ö  
 (B) ÃÖÓ¯ÖÏêÂÖ!Ö 
 (C) ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ−Ö  
 (D) †−¾ÖêÂÖ!Ö/Ã¾ÖÖ−Öã³Öã×¾Ö�úß  
 
22. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : †¯ÖÏÖ“Ö×»Ö�ú ¯Ö ü̧ß4Ö !Ö �úÖê 
×¾ÖŸÖ¸!Ö-´ÖãŒŸÖ ¯Ö¸üß4Ö!Ö ³Öß 
�úÆüŸÖê Æïü …   

 �úÖ¸�Ö (R) : ̄ ÖÏÖ“Ö×»Ö�ú ¯Ö¸üß4Ö!Ö ´Öë ÃÖ´ÖÛÂ™ü 
�êú ×¾ÖŸÖ¸ü!Ö �úß ¯ÖÏ�éú×ŸÖ �êú ²ÖÖ¸êü 
´Öë †−Öã´ÖÖ−Ö »Ö�ÖÖ‹ •ÖÖŸÖê Æïü …  

 (A) −Ö ŸÖÖê (A) ÃÖÆüß Æîü †Öî ü̧ −Ö Æüß (R)  

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   

 (D) (A) �Ö»ÖŸÖ Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
 

23. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 
 †×³Ö�ú£Ö−Ö  (A) : ̂ ““Ö ×¾Ö³Öê¤ü�ú ´Öæ»µÖ �úß ´Ö¤üÖë 

¾ÖÖ»ÖÖ ¯Ö¸üß4Ö!Ö �úÖ ˆ““Ö ¾Öî¬Ö 
ÃÖæ“Ö�ú ÆüÖê�ÖÖ …  

 �úÖ¸�Ö (R) : ́ Ö¤üü ×¾Ö³Öê¤ü−Ö ÃÖê ŸÖÖŸ¯ÖµÖÔ Æîü, 
¯Ö× ü̧¾ÖŸµÖÔ �úÖê ´ÖÖ¯Ö−Öê ¯Ö¸ü ¤üÖê 
†»Ö�Ö-†»Ö�Ö ¾µÖÛŒŸÖµÖÖë ÃÖê 
ˆÃÖ ´Ö¤ü �êú ÃÖÓ²ÖÓ¬Ö ´Öë †»Ö�Ö-
†»Ö�Ö ˆ¢Ö¸ü ¯ÖÏÖ¯ŸÖ ÆüÖêŸÖê Æïü …  

 (A) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   

 (C) (A) ÃÖÆüß Æîü »Öê×�ú−Öü (R) �Ö»ÖŸÖ Æîü …  
 (D) (A) �Ö»ÖŸÖ Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
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24. Arrange the following research 

methods in order of their increasing 

potential to find causal relationships : 

 1. Experiments 

 2. Field Studies 

 3. Surveys 

 4. Quasi-Experiments   

 (A) 1 2 3 4 

 (B) 3 2 4 1 

 (C) 3 4 2 1 

 (D) 1 3 2 4 

 

25. Arrange in chronological order from 

earlier to recent the publication of 

following tests of personality : 

 1. Eysenck’s Personality Inventory 

 2. Eysenck’s Personality Profiler 

 3. Eysenck’s Personality 

Questionnaire 

 4. Maudsley Personality Inventory 

 (A) 1 2 3 4 

 (B) 3 2 1 4 

 (C) 4 3 2 1 

 (D) 4 1 3 2 

 

26. Match List – I with List – II. 

List – I List – II 

(a) Time 

sampling 

1. Ex-Post Facto 

Studies 

(b) Double Blind 2. Case studies 

(c) Natural 

Settings 

3. Observation 

(d) Biographic 

Records 

4. Experiment 

 Codes : 
  (a) (b) (c) (d) 

 (A) 4 1 3 2 

 (B) 2 4 1 3 

 (C) 3 4 1 2 

 (D) 4 3 2 1 

 

27. Event sampling is characteristic of  

 (A) Quasi-Experiments 

 (B) Case Study 

 (C) Observation 

 (D) Interview 

28. There is a direct relationship 
between the reliability of a test and 
its length : 

 (A) This statement is always true. 
 (B) This statement is false. 
 (C) This statement is true under 

certain conditions. 
 (D) This relationship does not hold. 
 

29. Parameter is  
 (A) Characteristic of a sample. 
 (B) Characteristic of a population. 
 (C) Assumption of a Parametric 

tests. 
 (D) Characteristic of a Parametric 

test. 
 

30. Intelligence Quotient (I.Q.) is a  
 (A) Norm 
 (B) Raw score 
 (C) Score of Verbal Intelligence 
 (D) Score of Non-Verbal Intelligence 
 

31. Choose the correct answer :  
 Assertion (A) : Interlocking of 

internal personal factors and 
environment influence 
individual’s behaviour. 

 Reason (R) : Behaviour is 
determined only by innate factors. 

 (A) Both (A) and (R) are correct 
and (R) is the correct 
explanation of (A). 

 (B) (A) is correct but (R) is not. 
 (C) Both (A) and (R) are incorrect. 
 (D) Both (A) and (R) are correct 

but (R) is not the correct 
explanation of (A). 

 

32. Match List – I with List – II. 

List – I List – II 

(a) Method of Loci 1. Miller 

(b) Information 

Processing 

2. Cicero 

(c) Method of Chunking 3. Murdoc 

(d) Recurrency Effect 4. Atkinson 
 Codes : 
  (a) (b) (c) (d) 
 (A) 2 4 1 3 
 (B) 3 4 1 2 
 (C) 3 1 4 2 
 (D) 4 2 1 3 



 

 J-04-11 9  Paper-II 

24. −Öî×´Ö×¢Ö�ú ÃÖÓ²ÖÓ¬ÖÖë �úÖ ¯ÖŸÖÖ »Ö�ÖÖ−Öê �êú ×»Ö‹ ˆ−Ö�úß 
²ÖœÌüŸÖß Æãü‡Ô ¿ÖÛŒŸÖ �êú �Îú´Ö ´Öë ×−Ö´−Ö×»Ö×=ÖŸÖ 
†−ÖãÃÖÓ¬ÖÖ−Ö ×¾Ö×¬ÖµÖÖë �úÖê ¾µÖ¾ÖÛÃ£ÖŸÖ �úß×•Ö‹ : 

 1. ¯Ö¸üß4Ö!Ö 
 2. ±úß»›ü †¬µÖµÖ−Ö  
 3. ÃÖ¾Öì4Ö!Ö 
 4. †¬ÖÔ-¯Ö¸üß4Ö!Ö 
 (A) 1 2 3 4 

 (B) 3 2 4 1 

 (C) 3 4 2 1 

 (D) 1 3 2 4 

 

25. ¾µÖÛŒŸÖŸ¾Ö �êú ×−Ö´−Ö×»Ö×=ÖŸÖ ¯Ö¸üß4Ö!ÖÖë �êú ¯ÖÏ�úÖ¿Ö−Ö 
�úÖê ¯Öæ¾ÖÔ ÃÖê †Ö•Ö ŸÖ�ú �êú �úÖ»Ö�Îú´Ö ´Öë ¾µÖ¾ÖÛÃ£ÖŸÖ 
�ú¸ëü  

 1. †Ö‡ÃÖê−Ö�ú �úß ¾µÖÛŒŸÖŸ¾Ö ÃÖæ“Öß  
 2. †Ö‡ÃÖê−Ö�ú �úÖ ¾µÖÛŒŸÖŸ¾Ö ×¾Ö¾Ö¸ü!Ö 
 3. †Ö‡ÃÖê−Ö�ú �úß ¾µÖÛŒŸÖŸ¾Ö ¯ÖÏ¿−ÖÖ¾Ö»Öß  
 4. ´ÖÖ›üÃ»Öê �úß ¾µÖÛŒŸÖŸ¾Ö ÃÖæ“Öß  
 (A) 1 2 3 4 

 (B) 3 2 1 4 

 (C) 4 3 2 1 

 (D) 4 1 3 2 

 

26. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  
ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) ÃÖ´ÖµÖ ¯ÖÏ×ŸÖ¤ü¿ÖÔ   1. �úÖµÖÖì¢Ö¸ü †¬µÖµÖ−Ö  
(b) ›ü²Ö»Ö ²»ÖÖÓ‡›ü  2. �êúÃÖ †¬µÖµÖ−Ö 
(c) ¯ÖÏÖ�éú×ŸÖ�ú ¯Ö×¸ü¯Öê4Ö 3. ¯ÖÏê4Ö!Ö 
(d) •Öß¾Ö−Ö-¾Öé¢ÖÖÓŸÖ �úÖ 

×¸ü�úÖ›Ôü 
4. ¯Ö¸üß4Ö!Ö 

 �æú™ü : 
  (a) (b) (c) (d) 

 (A) 4 1 3 2 

 (B) 2 4 1 3 

 (C) 3 4 1 2 

 (D) 4 3 2 1 

 

27. ‘Ö™ü−ÖÖ ¯ÖÏ¤ü¿ÖÔ ×−Ö´−Ö×»Ö×=ÖŸÖ �úß ×¾Ö¿ÖêÂÖŸÖÖ Æîü  
 (A) †¬ÖÔ-¯Ö¸üß4Ö!Ö 
 (B) �êúÃÖ †¬µÖµÖ−Ö  
 (C) ¯ÖÏê4Ö!Ö 
 (D) ÃÖÖ4ÖÖŸ�úÖ ü̧  

28. ×�úÃÖß ¯Ö¸üß4Ö!Ö �úß ×¾Ö¿¾ÖÃÖ−ÖßµÖŸÖÖ †Öî¸ü ˆÃÖ�úß 
»ÖÓ²ÖÖ‡Ô �êú ²Öß“Ö ÃÖß¬ÖÖ ÃÖÓ²ÖÓ¬Ö Æîü  

 (A) µÖÆü �ú£Ö−Ö Æü´Öê¿ÖÖ ÃÖÆüß Æîü …  
 (B) µÖÆü �ú£Ö−Ö �Ö»ÖŸÖ Æîü …  
 (C) �ãú”û ÛÃ£Ö×ŸÖµÖÖë ´Öë µÖÆü �ú£Ö−Ö ÃÖÆüß Æîü …  
 (D) µÖÆü ÃÖÓ²ÖÓ¬Ö −ÖÆüà ÆüÖêŸÖÖ Æîü …  
 

29. ¯ÖÏÖ“ÖÖ»Ö Æîü  
 (A) ¯ÖÏ×ŸÖ¤ü¿ÖÔ �úß ×¾Ö¿ÖêÂÖŸÖÖ  
 (B) ÃÖ´ÖÂ™üß �úß ×¾Ö¿ÖêÂÖŸÖÖ  
 (C) ¯ÖÏÖ“ÖÖ×»Ö�ú ¯Ö ü̧ß4Ö!Ö �úß �ú»¯Ö−ÖÖ  
 (D) ¯ÖÏÖ“ÖÖ×»Ö�ú ¯Ö ü̧ß4Ö!Ö �úß ×¾Ö¿ÖêÂÖŸÖÖ  
 

30. ²ÖÖî× ü̈�ú ¯ÖÏÖ¯ŸÖÖÓ�ú (†Ö‡Ô. ŒµÖæ.) Æîü  
 (A) ´ÖÖ−Ö¤Óü›ü  
 (B) �ú““ÖÖ ÃÖ´ÖÓ�ú  
 (C) ´ÖÖî×=Ö�ú ²Öã×¨ü �úÖ ÃÖ´ÖÓ�ú  
 (D) †´ÖÖî×=Ö�ú ²Öã×¨ü �úÖ ÃÖ´ÖÓ�ú  
 

31. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 
 †×³Ö�ú£Ö−Ö  (A) : †ÖÓŸÖ×¸ü�ú ¾ÖîµÖÛŒŸÖ�ú �úÖ ü̧�úÖë 

†Öî ü̧ ¯ÖµÖÖÔ¾Ö¸ü!Ö �úß †−ŸÖÙ�ÎúµÖÖ ¾µÖÛŒŸÖ �êú 
¾µÖ¾ÖÆüÖ ü̧ �úÖê ¯ÖÏ³ÖÖ×¾ÖŸÖ �ú ü̧ŸÖß Æïü  

 �úÖ¸�Ö (R) : ¾µÖ¾ÖÆüÖ ü̧ �úÖ ×−Ö¬ÖÖÔ̧ ü!Ö 
•Ö−´Ö•ÖÖŸÖ �úÖ¸ü�úÖë «üÖ¸üÖ Æüß ÆüÖêŸÖÖ Æîü  

 (A) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü … 

 (B) (A) ÃÖÆüß Æîü »Öê×�ú−Öü (R) ÃÖÆüß −ÖÆüà Æîü …  
 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë �Ö»ÖŸÖ Æïü …  
 (D) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü …   
 

32. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  
ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) Ã£ÖÖ−Ö�ú Ã£ÖÖ−Ö�ú ×¾Ö×¬Ö  1. ×´Ö»Ö¸ü  
(b) ÃÖæ“Ö−ÖÖ ¯ÖÏ×�ÎúµÖÖ  2. ×ÃÖÃÖ ü̧Öê  
(c) =ÖÓ›ü−Ö ×¾Ö×¬Ö  3. ´Öã¸ü›üÖê�ú  
(d) †Ö¾ÖŸÖá ¯ÖÏ³ÖÖ¾Ö 4. †î™üØ�úÃÖ−Ö 

 �æú™ü : 
  (a) (b) (c) (d) 

 (A) 2 4 1 3 

 (B) 3 4 1 2 

 (C) 3 1 4 2 

 (D) 4 2 1 3 
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33. Match List – I with List – II. 

List – I List – II 

(a) Variable 

Ratio 

Schedule 

1. Reinforcement is 

given after a pre-

determined 

number of 

responses. 

(b) Variable 

Interval 

schedule 

2. Reinforcement is 

given at the end 

of predetermined 

time periods. 

(c) Fixed 

Interval 

Schedule 

3. Reinforcement is 

given after any 

number of 

responses. 

(d) Fixed Ratio 

Schedule 

4. Reinforcement is 

given at the end 

of varying time 

periods. 

 Codes : 
  (a) (b) (c) (d) 

 (A) 3 2 4 1  

 (B) 3 4 1 2 

 (C) 3 4 2 1 

 (D) 4 3 2 1 

 

34. Choose the correct answer :  

 Assertion (A) : The probability of 

recall of individual items is a 

function of their position in the 

learning list. 

 Reason (R) : Free recall is the 

most frequently used method 

of testing memory. 

 (A) (A) is correct but (R) is wrong. 

 (B) Both (A) and (R) are wrong. 

 (C) Both (A) and (R) are correct 

but (R) is not the correct 

explanation of (A). 

 (D) Both (A) and (R) are correct 

and (R) is the correct 

explanation of (A). 

35. Choose the correct answer :  

 Assertion (A) : It is easier to learn 
the word COW as compared to 
the word WOC. 

 Reason (R) : Meaningful words 
are easier to learn as compared 
to non-sense syllables. 

 (A) Both (A) and (R) are correct 
and (R) is the correct 
explanation of (A). 

 (B) Both (A) and (R) are correct 
but (R) is not the correct 
explanation of (A). 

 (C) (A) is true but (R) is false. 
 (D) (A) is false but (R) is true. 
 

36. The correct sequence of different 
forms of defense mechanism in 
terms of their increasing frequencies 
of use is 

 (A) Repression, reaction formation, 
regression, projection, 
rationalization, displacement. 

 (B) Repression, regression, projection, 
rationalization, reaction 
formation, displacement  

 (C) Repression, regression, reaction 
formation, projection 
rationalization, displacement 

 (D) Repression, regression, reaction 
formation, rationalization, 
projection, displacement. 

 

37. Choose the correct answer :  
 Assertion (A) : Episodic memory 

consists of long-term 
memories of specific things 
that occurred at specific times, 
places or occasions. 

 Reason (R) : The episodes have 
logical organizations. 

 (A) (A) is correct but (R) is wrong. 
 (B) Both (A) and (R) are wrong. 
 (C) Both (A) and (R) are correct 

and (R) is the correct 
explanation of (A). 

 (D) Both (A) and (R) are correct 
but (R) is not the correct 
explanation of (A). 
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33. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  

ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) ¯Ö× ü̧¾ÖŸÖÔ−ÖßµÖ 
†−Öã¯ÖÖŸÖ 
†−ÖæÃÖæ“Öß   

1. ×¤ü‹ �Ö‹ ˆ¢Ö¸üÖë �úÖê ¯Öæ¾ÖÔ-
×−Ö¬ÖÖÔ×¸üŸÖ �ú ü̧−Öê �êú ²ÖÖ¤ü 
¯ÖÏ²Ö»Ö−Ö ×¤üµÖÖ •ÖÖŸÖÖ Æîü …   

(b) ¯Ö× ü̧¾ÖŸÖÔ−ÖßµÖ 
†ÓŸÖ¸ü †−ÖãÃÖæ“Öß   

2. ¯Öæ¾ÖÔ-×−Ö¬ÖÖÔ× ü̧ŸÖ ÃÖ´ÖµÖ �úß 
ÃÖ´ÖÖÛ¯ŸÖ ¯Ö ü̧ ¯ÖÏ²Ö»Ö−Ö ×¤üµÖÖ 
•ÖÖŸÖÖ Æîü … 

(c) ×−ÖµÖŸÖ †ÓŸÖ ü̧ 
†−ÖãÃÖæ“Öß  

3. ×³Ö−−Ö-×³Ö−−Ö ÃÖÓ=µÖÖ†Öë �êú 
ˆ¢Ö¸üÖë �êú ²ÖÖ¤ü ¯ÖÏ²Ö»Ö−Ö 
×¤üµÖÖ •ÖÖŸÖÖ Æîü …  

(d) ×−ÖµÖŸÖ †−Öã¯ÖÖŸÖ 
†−ÖãÃÖæ“Öß  

4. ×³Ö−−Ö ÃÖ´ÖµÖ †ÓŸÖ¸üÖ»Ö �êú 
²ÖÖ¤ü ¯ÖÏ²Ö»Ö−Ö ×¤üµÖÖ •ÖÖŸÖÖ 
Æîü …  

 �æú™ü : 

  (a) (b) (c) (d) 

 (A) 3 2 4 1 

 (B) 3 4 1 2 

 (C) 3 4 2 1 

 (D) 4 3 2 1 

 

34. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : ×�úÃÖß ´Ö¤ü ×¾Ö¿ÖêÂÖ �úÖê 

¯Öã−ÖÃ´Ö¸ü !Ö �ú¸ü−Öê �úß ÃÖÓ³ÖÖ¾Ö−ÖÖ †×¬Ö�Ö´Ö 

ÃÖæ“Öß ´Öë ˆÃÖ�úß ÛÃ£Ö×ŸÖ �úÖ ¯ÖÏ�úÖµÖÔ Æîü …   

 �úÖ¸�Ö (R) : Ã¾Ö“”û−¤ü ¯Öã−ÖÃ´Ö¸ü !Ö ÃÖ¾ÖÖÔ×¬Ö�ú 

ˆ¯ÖµÖÖê�Ö ´Öë »ÖÖ‡Ô •ÖÖ−Öê ¾ÖÖ»Öß Ã´Öé×ŸÖ ¯Ö¸üß4Ö!Ö 
×¾Ö×¬Ö Æîü …  

 �æú™ü : 

 (A) (A) ÃÖÆüß Æîü »Öê×�ú−Öü (R) �Ö»ÖŸÖ Æîü …  

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë �Ö»ÖŸÖ Æïü …  

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü … 

 (D) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

35. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : WOC ¿Ö²¤ü �úß ŸÖã»Ö−ÖÖ ´Öë 
COW ¿Ö²¤ü µÖÖ¤ü �ú¸ü−ÖÖ †ÖÃÖÖ−Ö Æîü …    

 �úÖ¸�Ö (R) : ²ÖêŸÖã�êú †4Ö¸üÖë �úß ŸÖã»Ö−ÖÖ ´Öë 
ÃÖ×¬Ö�ú ¿Ö²¤ü ÃÖß=Ö−ÖÖ †ÖÃÖÖ−Ö ÆüÖêŸÖÖ Æîü …  

 (A) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü »Öê×�ú−Öü (R) �Ö»ÖŸÖ Æîü …  

 (D) (A) �Ö»ÖŸÖ Æîü »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  

 

36. ¸ü4ÖÖ µÖãÛŒŸÖµÖÖë �êú ˆ¯ÖµÖÖê�Ö �úÖê ²ÖœÌüŸÖß †Ö¾Öé×¢ÖµÖÖë �êú 
†−ÖãÃÖÖ¸ü �Îú´Ö ´Öë »Ö�ÖÖ‹Ñ  

 (A) ¤ü´Ö−Ö, ¯ÖÏ×ŸÖ×�ÎúµÖÖ ×¾Ö¬ÖÖ−Ö, ¯ÖÏ×ŸÖ�Ö´Ö−Ö, 
¯ÖÏ4Öê¯Ö!Ö, †×³Ö−Ö¾Öß�ú¸ü!Ö, ×¾ÖÃ£ÖÖ¯Ö−Ö 

 (B) ¤ü´Ö−Ö, ¯ÖÏ×ŸÖ�Ö´Ö−Ö, ¯ÖÏ4Öê¯Ö!Ö, 
†×³Ö−Ö¾Öß�ú¸ü!Ö, ¯ÖÏ×ŸÖ×�ÎúµÖÖ ×¾Ö¬ÖÖ−Ö, 
×¾ÖÃ£ÖÖ¯Ö−Ö 

 (C) ¤ü´Ö−Ö, ¯ÖÏ×ŸÖ�Ö´Ö−Ö, ¯ÖÏ×ŸÖ×�ÎúµÖÖ ×¾Ö¬ÖÖ−Ö, 
¯ÖÏ4Öê¯Ö!Ö, †×³Ö−Ö¾Öß�ú¸ü!Ö, ×¾ÖÃ£ÖÖ¯Ö−Ö 

 (D) ¤ü´Ö−Ö, ¯ÖÏ×ŸÖ�Ö´Ö−Ö, ¯ÖÏ×ŸÖ×�ÎúµÖÖ ×¾Ö¬ÖÖ−Ö, 
†×³Ö−Ö¾Öß�ú¸ü!Ö, ¯ÖÏ4Öê¯Ö!Ö, ×¾ÖÃ£ÖÖ¯Ö−Ö 

 

37. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : ‘Ö™ü−ÖÖ �úß µÖÖ¤ü ´Öë ˆÃÖ ¾ÖÃŸÖã 
×¾Ö¿ÖêÂÖ �úß ¤üß‘ÖÔ�úÖ×»Ö�ú µÖÖ¤ëü 
ÆüÖêŸÖß Æïü, •ÖÖê ÃÖ´ÖµÖ, Ã£ÖÖ−Ö µÖÖ 
†¾ÖÃÖ¸ü ×¾Ö¿ÖêÂÖ ´Öë ‘Ö×™üŸÖ Æãü‡Ô 
ÆüÖê …     

 �úÖ¸�Ö (R) : ‘Ö™ü−ÖÖ†Öë �êú ŸÖ�ÔúÃÖÓ�ÖŸÖ 
ÃÖÓ�Öšü−Ö ÆüÖêŸÖê Æïü …  

 (A) (A) ÃÖÆüß Æîü »Öê×�ú−Öü (R) �Ö»ÖŸÖ Æîü …  

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë �Ö»ÖŸÖ Æïü …  

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü †Öî ü̧ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

 (D) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü … 



Paper-II 12  J-04-11 

38. Which of the following is an 

indication of over learning ? 

 (A) Speed of Response 

 (B) Accuracy of Response 

 (C) Resistance to Decay 

 (D) All of the above 

 

39. A stimulus or event, when its 

termination is contingent to a 

response increases the likelihood of 

the occurrence of the response, is a  

 (A) Primary Reinforcer 

 (B) Negative Reinforcer 

 (C) Secondary Reinforcer 

 (D) Positive Reinforcer 

 

40. When Raju was thirteen months old 

he could not walk properly. But now 

at the age of two, he walks around 

with ease. This is result of 

 (A) Growth 

 (B) Practice 

 (C) Learning 

 (D) Maturation 

 

41. Which of these is the most sensitive 

measure of memory ? 

 (A) Recognition 

 (B) Cued-Recall 

 (C) Re-learning (Saving) 

 (D) Recall 

 

42. In emotional response _________ 

shall occur. 

 (A) increase in sweat gland activity 

 (B) lowering of skin resistance 

 (C) rise in skin conductance 

 (D) all the above 

43. Choose the correct sequencing of 

‘States of Being’ as per decreasing 

level of arousal : 

 (A) Coma, Relaxed, Drowsy, 

Mania 

 (B) Mania, Relaxed, Drowsy, 

Coma 

 (C) Coma, Mania, Drowsy, 

Relaxed 

 (D) Relaxed, Coma, Drowsy, 

Mania 

 

44. Choose the correct answer :  

 Assertion (A) : Brain is the most 

important organ for sex 

motivation. 

 Reason (R) : People with spinal 

cord injury with a loss of 

genital stimulation do have sex 

motivation. 

 (A) Neither (A) is correct nor (R) 

is correct. 

 (B) Both (A) and (R) are correct 

and (R) is the correct 

explanation of (A). 

 (C) Both (A) and (R) are correct 

but (R) is not the correct 

explanation of (A). 

 (D) (A) is correct but (R) is not. 

 

45. Arrange as per their temporal 

occurrence the following four 

processes as per James-Lange theory 

of emotion and choose the correct 

answer : 

 1. Viscera to Neocortex. 

 2. Skeletal muscle to Neocortex. 

 3. Receptor to Neo cortex. 

 4. Neocortex to skeletal muscle 

and viscera.   

 (A) 3 1 2 4 

 (B) 4 2 1 3  

 (C) 3 4 2 1 

 (D) 3 2 1 4 
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38. ×¿Ö4Ö!Ö �êú ²ÖÖ¤ü ×−Ö´−Ö×»Ö×=ÖŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ 
ÃÖÓ�êúŸÖ−Ö Æîü ? 

 (A) ˆ¢Ö¸ü �úß �Ö×ŸÖ  

 (B) ˆ¢Ö¸ü �úß µÖ£ÖÖ£ÖÔŸÖÖ  

 (C) ÈüÖÃÖ�úÖ»Ö �êú ¯ÖÏ×ŸÖ ¯ÖÏ×ŸÖ¸üÖê¬Ö�ú  

 (D) ˆ¯ÖµÖãÔŒŸÖ ÃÖ³Öß  

 

39. �úÖê‡Ô ¯ÖÏê ü̧!ÖÖ µÖÖ ‘Ö™ü−ÖÖ, •Ö²Ö ¾ÖÆü ×�úÃÖß ˆ¢Ö ü̧ �úß 
†Ö�úÛÃ´Ö�úŸÖÖ �úß ÃÖ´ÖÖÛ¯ŸÖ ÆüÖêŸÖß Æîü, ¾ÖÆü ˆÃÖ ˆ¢Ö ü̧ 
�êú ‘Ö×™üŸÖ ÆüÖê−Öê �úß ÃÖÓ³ÖÖ¾Ö−ÖÖ �úÖê ×−Ö´−Ö×»Ö×=ÖŸÖ ºþ¯Ö 
´Öë ²ÖœÌüÖ ¤êüŸÖÖ Æîü  

 (A) ¯ÖÏÖ£Ö×´Ö�ú ¯ÖÏ²Ö»Ö�ú  

 (B) −Ö�úÖ ü̧ÖŸ´Ö�ú ¯ÖÏ²Ö»Ö�ú  

 (C) �ÖÖî!Ö ¯ÖÏ²Ö»Ö�ú  

 (D) ÃÖ�úÖ ü̧ÖŸ´Ö�ú ¯ÖÏ²Ö»Ö�ú  

 

40. •Ö²Ö ¸üÖ•Öæ ŸÖȩ̂ üÆü ´ÖÖÆü �úÖ £ÖÖ ¾ÖÆü šüß�ú ÃÖê −ÖÆüà “Ö»Ö 
ÃÖ�úŸÖÖ £ÖÖ, »Öê×�ú−Ö †²Ö ¾ÖÆü ¤üÖê ¾ÖÂÖÔ �úÖ Æîü, ¾ÖÆü 
†ÖÃÖÖ−Öß ÃÖê ‡¬Ö¸ü-ˆ¬Ö¸ü “Ö»ÖŸÖÖ Æîü … µÖÆü 
×−Ö´−Ö×»Ö×=ÖŸÖ �êú �úÖ¸ü!Ö ÆüÖêŸÖÖ Æîü …  

 (A) ÃÖÓ¾Öé×¨ü  (B) †³µÖÖÃÖ  

 (C) ×¿Ö4Ö!Ö (D) ¯Ö× ü̧¯ÖŒ¾ÖŸÖÖ  

 

41. Ã´Ö¸ü!Ö-¿ÖÛŒŸÖ �úÖ ÃÖ²ÖÃÖê †×¬Ö�ú ÃÖÓ¾Öê¤ü−Ö¿Öß»Ö 
ˆ¯ÖÖµÖ ×−Ö´−Ö×»Ö×=ÖŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ Æîü ? 

 (A) ¯ÖÏŸµÖ×³Ö–ÖÖ−Ö  

 (B) ÃÖÓ�êúŸÖ ¯Öã−ÖÃ´ÖÔ̧ ü!Ö 

 (C) ¯Öã−Ö:×¿Ö4Ö!Ö (†¯Ö¾ÖÖ¤ü) 

 (D) ¯Öã−ÖÃ´ÖÔ¸ü!Ö  

 

42. ÃÖÓ¾Öê�ÖÖŸ´Ö�ú ˆ¢Ö ü̧ ´Öë ______ ÆüÖê�Öß …  

 (A) ¿¾Öê¤ü �ÖÏÓ×£Ö �úß ×�ÎúµÖÖ ´Öë ¾Öé× ü̈  

 (B) Ÿ¾Ö“ÖÖ �úß ¯ÖÏ×ŸÖ¸üÖê¬Ö�úŸÖÖ ´Öë �ú´Öß  

 (C) Ÿ¾Ö“ÖÖ “ÖÖ»Ö�úŸ¾Ö ´Öë ¾Öé×¨ü  

 (D) ˆ¯ÖµÖãÔŒŸÖ ÃÖ³Öß  

43. ˆ¢Öê•Ö−ÖÖ �úß �ú´Öß �êú ÃŸÖ¸ü �êú †−ÖãÃÖÖ¸ü “ÆüÖê−Öê 
¾ÖÖ»Öß ÛÃ£Ö×ŸÖ” �úÖ ÃÖÆüß �Îú´Ö “Öã×−Ö‹ …  

 (A) †×ŸÖ´Öæ”ûÖÔ, ×¾ÖÁÖÖ´Ö, ˆ−Öà¤üÖ, ˆ−´ÖÖ¤ü 

 (B) ˆ−´ÖÖ¤ü, ×¾ÖÁÖÖ´Ö, ˆ−Öà¤üÖ, †×ŸÖ´Öæ”ûÖÔ  

 (C) †×ŸÖ´Öæ”ûÖÔ, ˆ−´ÖÖ¤ü, ˆ−Öà¤üÖ, ×¾ÖÁÖÖ´Ö 

 (D) ×¾ÖÁÖÖ´Ö, †×ŸÖ´Öæ”ûÖÔ, ˆ−Öà¤üÖ, ˆ−´ÖÖ¤ü  

 

44. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : ́ ÖÛÃŸÖÂ�ú µÖÖî−Ö †×³Ö¯ÖÏȩ̂ ü!ÖÖ �úÖ 
ÃÖ²ÖÃÖê ´ÖÆü¢¾Ö¯Öæ!ÖÔ †Ó�Ö Æîü …  

 �úÖ¸�Ö (R) : ́ Öê¹ý ¸ü••Öã �úß “ÖÖê™ü †Öî ü̧ 
•Ö−Ö−ÖÖÓ�Ö ˆ¢Öê•Ö−ÖÖ �úß 4Ö×ŸÖ 
¾ÖÖ»Öê »ÖÖê�ÖÖë ´Öë µÖÖî−Ö †×³Ö¯ÖÏȩ̂ !ÖÖ 
ÆüÖêŸÖß Æîü …  

 (A) −Ö ŸÖÖê (A) †Öî̧ ü −Ö Æüß  (R) ÃÖÆüß Æîü …  

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü »Öê×�ú−Ö (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü … 

 (D) (A) ÃÖÆüß Æîü »Öê×�ú−Ö (R) ÃÖÆüß −ÖÆüà Æîü …  

 

45. •Öê´ÃÖ-»Öë�Öê �êú ÃÖÓ¾Öê�Ö ×ÃÖ¨üÖÓŸÖ �êú †−ÖãÃÖÖ¸ü 
×−Ö´−Ö×»Ö×=ÖŸÖ “ÖÖ¸ü ¯ÖÏ×�ÎúµÖÖ†Öë �êú �úÖ×»Ö�ú ºþ¯Ö ÃÖê 
‘Ö×™üŸÖ ÆüÖê−Öê �êú †−ÖãÃÖÖ ü̧ ‡−Æëü �Îú´Ö²Ö¨ü �úß×•Ö‹ †Öî̧ ü 
ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 1. ×¾ÖÃÖȩ̂ üÖ ÃÖê ¾Ö»�ãú™ü ŸÖ�ú  

 2. �Óú�úÖ»ÖßµÖ ¯Öê×¿ÖµÖÖë ÃÖê ¾Ö»�ãú™ü ŸÖ�ú 

 3. �ÖÏÖÆü�ú ÃÖê ¾Ö»�ãú™ü ŸÖ�ú  

 4. ¾Ö»�ãú™ü ÃÖê �Óú�úÖ»ÖßµÖ ¯Öê¿Öß †Öî ü̧ ×¾ÖÃÖê ü̧Ö 
ŸÖ�ú  

 (A) 3 1 2 4 

 (B) 4 2 1 3 

 (C) 3 4 2 1 

 (D) 3 2 1 4 
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46. Match List – I with List – II. 

List – I List – II 

(a) Alertness 1. Alpha and Delta 

waves 

(b) Relaxed 2. Beta waves 

(c) Drowsiness 3. Delta waves 

(d) Deep sleep 4. Alpha waves 

 Codes : 

  (a) (b) (c) (d) 

 (A) 1 2 3 4  

 (B) 4 3 2 1 

 (C) 1 3 2 4 

 (D) 2 4 1 3 

 

47. Choose the correct answer :  

 Assertion (A) : A neuron can 

generate action potentials with 

a maximum of 1000 

frequencies per second under 

optional conditions. 

 Reason (R) : Action potential 

follows all-or-none law in 

respect of its strength. 

 (A) Both (A) and (R) are correct 

and (R) is the correct 

explanation of (A). 

 (B) Both (A) and (R) are incorrect. 

 (C) Both (A) and (R) are correct 

and (R) is not the correct 

explanation of (A). 

 (D) (A) is correct but (R) is not. 

Note : These instructions are for 

question numbers 48, 49 and 50. 

 Read the following paragraph 

carefully having blanks. Choose 

appropriate blanks from the 

alternatives given for the next three 

questions. Blanks are numbered. 

 “Like a three dimensional world the 

nervous system has been given three 

axes of its own which help in 

understanding the spatial 

relationships among various neural 

structures. One axis goes from the 

back or the dorsal to the front or           

the      48     . Another goes from           

the nose or head of the animal to the           

tail or      49     . The third axis 

capitalizes on the fact that many 

gross structures are duplicated on 

either side of the animal, so that we 

can establish a midline axis. Areas 

close to this are      50       portions, 

and those areas to each side of          

it        50       portions.  

 

48. Fill the blank for appropriate space : 

 (A) anterior (B) medial 

 (C) ventral (D) posterior 

 

49. Fill the blank at 49
th

 mark in 

paragraph : 

 (A) dorsal (B) lateral 

 (C) anterior (D) posterior 

 

50. Fill the paired spaces at marked 50 : 

 (A) dorsal, ventral 

 (B) medial, lateral 

 (C) anterior, medial 

 (D) anterior, posterior 
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46. ÃÖæ“Öß – I �úÖê ÃÖæ“Öß – II �êú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ �ú¸ëü …  

ÃÖæ“Öß – I ÃÖæ“Öß – II 

(a) ÃÖŸÖ�ÔúŸÖÖ    1. †»±úÖ †Öî ü̧ ›êü»™üÖ ŸÖ Ó̧ü�Öë  

(b) ×¾ÖÁÖÖ´Ö  2. ²Öß™üÖ ŸÖ¸Óü�Öë  

(c) ŸÖÓ¦üÖ 3. ›êü»™üÖ ŸÖ Ó̧ü�Öë  

(d) �ÖÆü̧ üß −Öà¤ü  4. †»±úÖ ŸÖ Ó̧ü�Öë  

 �æú™ü : 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 4 3 2 1 

 (C) 1 3 2 4 

 (D) 2 4 1 3 

 

47. ÃÖÆüß ˆ¢Ö¸ü “Öã×−Ö‹ : 

 †×³Ö�ú£Ö−Ö  (A) : ‹�ú ŸÖÓ×¡Ö�úÖ-�úÖê×¿Ö�úÖ ¾Öî�úÛ»¯Ö�ú 

ÛÃ£Ö×ŸÖµÖÖë ´Öë †×¬Ö�úŸÖ´Ö 1000 

†Ö¾Öé¢Ö ¯ÖÏ×ŸÖ ÃÖê�ëú›ü ÃÖê �úÖµÖÔ �úß 

4Ö´ÖŸÖÖ ¯Öî¤üÖ �ú ü̧ ÃÖ�úŸÖÖ Æîü …  

 �úÖ¸�Ö (R) : �úÖµÖÔ �úß 4Ö´ÖŸÖÖ †¯Ö−Öß ¿ÖÛŒŸÖ 

�êú ÃÖÓ²ÖÓ¬Ö ´Öë ÃÖ³Öß ×−ÖµÖ´ÖÖë �úÖ 

¯ÖÖ»Ö−Ö �ú¸üŸÖß Æîü †£Ö¾ÖÖ ×�úÃÖß 

³Öß ×−ÖµÖ´Ö �úÖ ¯ÖÖ»Ö−Ö −ÖÆüà 

�ú¸üŸÖß Æîü …  

 (A) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ Æîü …   

 (B) (A) †Öî¸ü (R) ¤üÖê−ÖÖë †ÃÖŸµÖ Æïü …  

 (C) (A) †Öî¸ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) �úß ÃÖÆüß ¾µÖÖ=µÖÖ −ÖÆüà Æîü … 

 (D) (A) ÃÖÆüß Æîü »Öê×�ú−Ö (R) ÃÖÆüß −ÖÆüà Æîü …  

−ÖÖê™ü : µÖê †−Öã¤êü¿Ö ¯ÖÏ¿−Ö ÃÖÓ=µÖÖ 48, 49 †Öî ü̧ 50 �êú ×»Ö‹ 

Æïü …  

 � Ö Ö »Öß  Ã£Ö Ö −Ö ¾ ÖÖ »Öê × −Ö ´−Ö × »Ö × �Ö ŸÖ  ¯Ö î̧ ü Ö� Ö ÏÖ ±ú �ú Öê 

ÃÖ Ö ¾ Ö¬ Ö Ö −Öß  ÃÖê ¯Ö œÌëü  … † � Ö »Öê ŸÖ ß −Ö  ¯Ö Ï ¿−Ö Öë �êú × »Ö‹ 

× ¤ ü ‹ � Ö‹  ×¾ Ö �ú »¯ÖÖ ë ÃÖ ê ÃÖ ´Öã× “Ö ŸÖ  � Ö Ö »Ö ß  Ã£ÖÖ −Ö 

“Ö ã× −Ö ‹ , � ÖÖ »Öß  Ã£Ö Ö −Ö Öë �ú Ö ê † Ó×�ú ŸÖ  × �ú µÖÖ  � Ö µÖ Ö       

Æîü  …  

 ŸÖß−Ö †ÖµÖÖ´Öß ×¾Ö¿¾Ö �úß ³ÖÖÑ×ŸÖ ŸÖÓ×¡Ö�úÖ ŸÖÓ¡Ö �êú 

†¯Ö−Öê ŸÖß−Ö ‹êŒÃÖêÃÖ (†4Ö) ×¤ü‹ �Ö‹ Æïü, ×•Ö−ÖÃÖê 

×¾Ö×³Ö−−Ö ŸÖÓ×¡Ö×�úµÖ ÃÖÓ ü̧“Ö−ÖÖ†Öë ´Öë Ã£ÖÖ×−Ö�ú ÃÖÓ²ÖÓ¬ÖÖë 

�úÖê ÃÖ´Ö—Ö−Öê ´Öë ´Ö¤ü¤ü ×´Ö»ÖŸÖß Æîü … ‹�ú †4Ö 

(�úÖ»¯Ö×−Ö�ú ¸êü=ÖÖ) ¯Öß”êû µÖÖ ¯ÖéÂšü ÃÖê †Ö�Öê µÖÖ   48   

�úß †Öȩ̂ ü •ÖÖŸÖß Æîü … ¤æüÃÖ¸üß �úÖ»¯Ö×−Ö�ú ¸êü=ÖÖ ¯Ö¿Öã†Öë 

�úß −ÖÖ�ú µÖÖ ×ÃÖ ü̧ ÃÖê ¯ÖæÑ”û µÖÖ   49   �úß †Öê ü̧ •ÖÖŸÖß         

Æîü … ŸÖßÃÖ¸üß �úÖ»¯Ö×−Ö�ú ȩ̂ü=ÖÖ ‡ÃÖ ŸÖ£µÖ �úÖê 

¯ÖÏ´ÖÖ×!ÖŸÖ �ú¸üŸÖß Æîü ×�ú �ú‡Ô ÃÖ±ú»Ö ÃÖÓ̧ ü“Ö−ÖÖ‹Ñ ¯Ö¿Öã 

�êú ¤üÖê−ÖÖë †Öȩ̂ ü Æïü, ŸÖÖ×�ú Æü´Ö ´Ö¬µÖ¾ÖŸÖá †4Ö 

(�úÖ»¯Ö×−Ö�ú ¸êü=ÖÖ) Ã£ÖÖ×¯ÖŸÖ �ú ü̧ ÃÖ�ëú … ‡ÃÖ †4Ö 

�êú ÃÖ´Öß¯Ö ÆüÖê−Öê ¾ÖÖ»Öê 4Öê¡Ö   50   ³ÖÖ�Ö Æïü †Öî ü̧ •ÖÖê 

4Öê¡Ö ¤üÖê−ÖÖë ŸÖ¸ü±ú Æïü ¾Öê    50    ³ÖÖ�Ö Æïü …  

48. ˆ¯ÖµÖãŒŸÖ ×¸üŒŸÖ Ã£ÖÖ−Ö �êú ×»Ö‹ ×¾Ö�ú»¯Ö “Öã−Öë  

 (A) ¯Öæ¾ÖÔ¾ÖŸÖá  (B) ´Ö¬µÖ¾ÖŸÖá  

 (C) †¬Ö¸ü  (D) ¯Ö¿“Ö  

 

49. ¯Öî ü̧Ö�ÖÏÖ±ú ´Öë 49¾Öë =ÖÖ»Öß Ã£ÖÖ−Ö �úÖê ³Ö¸ëü :  

 (A) ¯ÖéÂšü  (B) ¯ÖÖ¿¾ÖÔ 

 (C) ¯Öæ¾ÖÔ¾ÖŸÖá  (D) ¯Ö¿“Ö  

 

50. †Ó�ú 50 ¯Ö¸ü •ÖÖê›Ìêü ¾ÖÖ»Öê Ã£ÖÖ−Ö ³Ö ȩ̈ü  

 (A) ¯ÖéÂšü, †¬Ö¸ü 

 (B) ´Ö¬µÖ¾ÖŸÖá, ¯ÖÖ¿¾ÖÔ 

 (C) ¯Öæ¾ÖÔ¾ÖŸÖá, ´Ö¬µÖ¾ÖŸÖá 

 (D) ¯Öæ¾ÖÔ¾ÖŸÖá, ¯Ö¿“Ö 
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